
Parts Breakdown

Model FR-CN-0005 47742



Parts Breakdown

Model FR-CN-0005 47742

Sneeze Guard

Item No. Description Position Item No. Description Position Item No. Description Position

AN902 Upper Glass Door Assembly for 
47742 1 AN917 Lamp Switch for 47742 17 AN931 ST 4.8x13 Self Tapping Screw 

for 47742 35

AN903 Key and Lock for 47742 2 AN918 Temperature-Controlled Wiring 
for 47742 18 AN932 Compressor Baseboard for 

47742 36

AN904 Lower Glass Door Assembly for 
47742 3 AN919 JIS 4x16 Self Tapping Screw for 

47742 19 AN933 Rubber Washer for 47742 37

AK372 Stainless Steel Pan 5L for 47742 4 AN920 Compressor Cover for 47742 20 AN934 Sleeving for 47742 38

AN905 Food Storage Boxes for 47742 5 AN921 Fan Motor for 47742 21 AN935 Washer for 47742 39

AN906 Stainless Steel Bracket Assembly 
for 47742 6 AN922 Fan Bracket for 47742 22 AN936 Screw 6x30 for 47742 40

AN907 Self Tapping Screw 3.9x16 for 
47742 7 AN923 M6x14 Tapping Screw for 47742 23 AN937 Compressor for 47742 41

AN908 Temperature Display Probe Cover 
for 47742 8 AN924 M6 Nut for 47742 24 AN938 Compressor Starter for 47742 42

AN909 Cabinet for 47742 9 AN925 ST 4.2x13 Self Tapping Screw for 
47742 25 AN939 Compressor Protector for 47742 43

AN910 Condenser for 47742 10 AN926 Filter Bracket Connecting Plate 
for 47742 26 AN940 Compressor Housing for 47742 44

AN911 M5x16 Tapping Screw with 
Washer for 47742 11 AN620 Filter Support for 47742 27 AN941 Interior Wire for 47742 45

AN912 Water Proof Box for 47742 12 AN927 Filter for 47742 28 AN942 Power Cord for 47742 46

AN913 LED Light Transformer for 47742 13 AN928 M4x8 Tapping Screw and Serrated 
Lock Washers for 47742 30, 31 AN943 Castor with Brakes for 47742 47

AN914 Electronic Thermostat for 47742 14 AN929 M4x16 Tapping Screw for 47742 32 AN944 JIS 5x13 Self Tapping Screw for 
47742 48

AN915 JIS 4x12 Self Tapping Screw for 
47742 15 AN623 Wire Clamp for 47742 33 AN945 U-Iron for 47742 49

AN916 Electronic Temperature Control 
Bracket for 47742 16 AN930 Castor for 47742 34 AI312 LED Bar for 47742 50

Item No. Description Position Item No. Description Position Item No. Description Position

AC116 Front Rail for 47742 AC120 Screws for Rails for 47742 AQ649 Side Glass for 47742

AC117 Side Rail for 47742 AK760 Metal Washers for 47742 AQ650 Front Glass for 47742

AC118 Metal Plate for Side Rails for 
47742 AC121 Fasteners for Glass Panels for 

47742 AQ651 Top Glass for 47742

AC119 L-Shaped Bracket for 47742 AQ648 Gasket for 47742


